Group Quiz 2 Name: \’& &7

Dusty Wilson
Math 148 ~ Fall 2011

No work = no credit

1) Consider f{x)=3x"-5x+11.

a.) Use the definition of the derivative to find /'(x}
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b.) For what x values is f increasing (rising)?
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c.) Find the equation of the tangent line to /' (x) when x =1
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2.) Find the equation of the second derivative of g(x)=vx’-3x
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3.) Suppose R{x)= -6—%(%&2 describes the revenue (in dollars) from the sale of x units of a
X+

product.

a.) Find MJ—?(A)
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b.) Find and interpret m(49) Pl P 24

ﬁ\a__‘ Nede pdoe -«é@g Frapr *:;L\.e, ‘-}-C]{"L‘ Uitk TS
About %30&61%

c.) Find and interpret R(49)-R(48) = 3,
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